CONTRACT 20-063-11 — MATERIALS LIST

GROUP A
ITEM# MM# DESCRIPTION

1 109640 BELT,V,#3L220

2 109646 BELT,V,#3L440

3 109653 BELT,V,#4L220

4 109654 BELT,V,COG,#AX21
5 109655 BELT,V,COG,#AX22
6 109656 BELT,V,COG,#AX23
7 109657 BELT,V,COG,#AX25
8 109659 BELT,V,COG,#AX27
9 109660 BELT,V,COG,#AX28
10 109661 BELT,V,COG,#AX29
11 109662 BELT,V,COG,#AX30
12 109664 BELT,V,COG,#AX32
13 109665 BELT,V,COG,#AX33
14 109666 BELT,V,COG,#AX34
15 109667 BELT,V,COG,#AX35
16 109668 BELT,V,COG,#AX36
17 109669 BELT,V,COG,#AX37
18 109670 BELT,V,COG,#AX38
19 109671 BELT,V,COG,#AX39
20 109674 BELT,V,COG,#AX42
21 109675 BELT,V,COG,#AX43
22 109676 BELT,V,COG,#AX44
23 109677 BELT,V,COG,#AX45
24 109678 BELT,V,COG,#AX46
25 109680 BELT,V,COG,#AX50
26 109681 BELT,V,COG,#AX53
27 109682 BELT,V,COG,#AX61
28 109685 BELT,V,COG,#AX67
29 109687 BELT,V,COG,#AX91
30 109689 BELT,V,COG,#AX24
31 109697 BELT,V,COG,#AX41
32 109701 BELT,V,COG,#AX47
33 109702 BELT,V,COG,#AX48
34 109703 BELT,V,COG,#AX49
35 109704 BELT,V,COG,#AX51
36 109707 BELT,V,COG,#AX55
37 109708 BELT,V,COG,#AX56
38 109709 BELT,V,COG,#AX60
39 109712 BELT,V,COG,#AX66
40 109713 BELT,V,COG,#AX68
41 109717 BELT,V,COG,#AX78
42 109718 BELT,V,COG,#AX85
43 109721 BELT,V,COG,#AX103
44 109723 BELT,V,COG,#AX120
45 109724 BELT,V,COG,#AX158
46 109725 BELT,V,COG,#AX26

1of6



CONTRACT 20-063-11 — MATERIALS LIST

DESCRIPTION

GROUP A
ITEM# MM#
47 109726
48 109727
49 109728
50 109730
51 109732
52 109736
53 109737
54 109738
55 109739
56 109740
57 109742
58 109743
59 109744
60 109745
61 109747
62 109748
63 109749
64 109750
65 109751
66 109752
67 109755
68 109757
69 109758
70 109761
71 109762
72 109763
73 109765
74 109766
75 109767
76 109769
77 109771
78 109774
79 109776
80 109777
81 109778
82 109780
83 109781
84 109783
85 109784
86 109788
87 109789
88 109790
89 109792
90 109795
91 109796
92 109797

BELT,V,COG,#AX40
BELT,V,COG,#AX62
BELT,V,COG,#AX64
BELT,V,COG #AX75
BELT,V,COG,#BX38
BELT,V,COG,#BX46
BELT,V,COG,#BX48
BELT,V,COG,#BX49
BELT,V,COG,#BX50
BELT,V,COG,#BX51
BELT,V,COG,#BX53
BELT,V,COG,#BX55
BELT,V,COG,#BX57
BELT,V,COG,#BX58
BELT,V,COG,#BX60
BELT,V,COG,#BX62
BELT,V,COG,#BX63
BELT,V,COG,#BX64
BELT,V,COG,#BX65
BELT,V,COG,#BX68
BELT,V,COG,#BX72
BELT,V,COG,#BX75
BELT,V,COG,#BX78
BELT,V,COG,#BX83
BELT,V,COG,#BX85
BELT,V,COG,#BX90
BELT,V,COG,#BX95
BELT,V,COG,#BX97
BELT,V,COG,#BX100
BELT,V,COG,#BX112
BELT,V,COG,#BX120
BELT,V,COG,#BX144
BELT,V,COG,#BX210
BELT,V,COG,#BX35
BELT,V,COG,#BX42
BELT,V,COG,#BX66
BELT,V,COG,#BX71
BELT,V,COG,#BX79
BELT,V,COG,#BX80
BELT,V,COG,#BX93
BELT,V,COG,#BX103
BELT,V,COG,#BX105
BELT,V,COG,#BX116
BELT,V,COG,#BX136
BELT,V,COG,#BX150
BELT,V,COG,#BX158

20of6



CONTRACT 20-063-11 — MATERIALS LIST

GROUP A

ITEM# MM# DESCRIPTION
93 109800 BELT,V,COG,#CX96
94 109804 BELT,V,COG,#CX120
95 109808 BELT,V,UNIROYAL #3V530
96 109812 BELT,V,#3VX500,GATES #9412-0500
97 109814 BELT,V,#3VX710
98 109815 BELT,V,#5VX590
99 109816 BELT,V,#5VX690
100 114349 BELT,V,#4L170
101 114350 BELT,V,#4L180
102 114351 BELT,V,#4L210
103 114352 BELT,V,COG,#AX31
104 114364 BELT,V,COG,#AX92
105 114365 BELT,V,COG,#AX105
106 114367 BELT,V,COG,#AX180
107 114371 BELT,V,#5VX750
108 114372 BELT,V,#5VX650
109 114416 BELT,V,COG,#5L280
110 114419 BELT,V,COG,#AX57
111 114421 BELT,V,COG,#BX52
112 114464 BELT,V,COG,#BX59
113 114513 BELT,V,COG,#AX58
114 114538 BELT,V,COG,#AX88
115 114540 BELT,V,COG,#AX144
116 114541 BELT,V,COG,#BX28
117 114544 BELT,V,COG,#AX65
118 114545 BELT,V,#41L200
119 114546 BELT,V,COG,#AX80
120 114574 BELT,V,COG,#BX44
121 114576 BELT,V,COG,#BX88
122 115155 BELT,V,COG,#5VX840
123 115156 BELT,V,COG,#3VX630
124 116525 BELT,V,GATES #XL7350
125 117272 BELT,V,HEAVY DUTY,NOTCHED,GATES CX100
126 117539 BELT,V,#3L230
127 117540 BELT,V,#4L230
128 117541 BELT,V,#4L280,#A26
129 117542 BELT,V,#4L350
130 117543 BELT,V,#A42
131 117544 BELT,V,#A43
132 117545 BELT,V,#A49
133 117546 BELT,V,#A52
134 117547 BELT,V,#A55
135 117548 BELT,V,#A82
136 117549 BELT,V,#A91
137 117553 BELT,V,COG,#AX64
138 117554 BELT,V,COG,#AX66

30f6



CONTRACT 20-063-11 — MATERIALS LIST

DESCRIPTION

GROUP A
ITEM# MM#
139 117555
140 117556
141 117557
142 117558
143 117559
144 117561
145 117562
146 117563
147 117564
148 117565
149 117566
150 117567
151 117568
152 117574
153 117575
154 117576
155 117577
156 118118
157 118119
158 118120
159 118294
160 118355
161 118356
162 118357
163 118358
164 118359
165 118360
166 118361
167 118362
168 118363
169 118364
170 118365
171 118366
172 118367
173 118454
174 118559
175 118626
176 118755

BELT,V,COG,#AX70
BELT,V,COG,#AX71
BELT,V,COG,#AX75
BELT,V,COG,#AX120
BELT,V,COG,#AX128
BELT,V,#B97

BELT,V,#B136

BELT,V,#B144

BELT,V,#B195

BELT,V,COG,#BX54
BELT,V,COG,#BX158
BELT,V,#D162
BELT,V,FAN,#3V450
BELT,DRIVE,DAYCO #345L050
BELT,V,COG,#CX115
BELT,V,COG,#BX96
BELT,V,#4836V850
BELT,V,#5VX1180/05
BELT,V,#10R5V2120
BELT,V,GATES #5/5VX1250
BELT,V,1400MM,KAESER #627570 (SET OF 4)
BELT,V,COG,#BX56
BELT,V,COG,TRI-POWER,#AX97
BELT,V,#AS36

BELT,MICRO V,#380J6
BELT,V,#3V900
BELT,V,COG,TRI-POWER,#BX133
BELT,V,BANDED,#3/B154
BELT,V,CLASSIC WRAPPED,#B134
BELT,V,#3L380

BELT,V,CLASSIC WRAPPED,#B29
BELT,V,#B123

BELT,V,#4L570
BELT,V,COG,#BX34
BELT,V,#4L290
BELT,V,COG,#5VX1180
BELT,V,XPZ 987,ATLAS COPCO #2903102142
BELT,FAN,V COGGED TYPE #5VX450

40f6



CONTRACT 20-063-11 — MATERIALS LIST

GROUP B

MEM# MM #
1 109826
2 109827
3 109828
4 109829
5 115906
6 117629

DESCRIPTION

BELT,CONVEYOR,18"W X 200'L
BELT,CONVEYOR,24"W X 550'L
BELT,CONVEYOR,30"W X 550'L
BELT,CONVEYOR,36"W X 550'L
BELT,CONVEYOR,SBR,1/4"THICK,6" X 50'RL
BELTING,RUBBER,18"WIDE X 45',2 PLY

50of6



CONTRACT 20-063-11 — MATERIALS LIST

DESCRIPTION

GROUP C
ITEM# MM #
1 109543
2 109546
3 109549
4 109552
5 109556
6 109559
7 109569
8 109570
9 109572
10 109582
11 109583
12 109601
13 109604
14 109611
15 109621
16 109624
17 109627
18 109629
19 109632
20 109634
21 115108
22 115995
23 116497
24 116509
25 116515
26 117949
27 117965
28 117967
29 117972
30 117976
31 117977
32 118001
33 118012
34 118014
35 118032
36 118046
37 118048
38 118814

BEARING,1.378"X.5906"X.4331",#202K,6202
BEARING,1.8504"X.7874"X.5512",#6204-7Z
BEARING,2.4409"X1.1811"X.6299",#6206-2RS
BEARING,2.8346"X 1.3780"X.6693",#6207-ZZ
BEARING,3.3465"X 1.7717"X.748",#6209-7Z
BEARING,4.3307"X 2.3622"X.8661",#6212-7Z
BEARING,3.1496"X 1.378"X.8268",#6307-7Z
BEARING,3.5433"X 1.5748"X.9055",#6308-2Z
BEARING,3.937"X 1.7717"X.9843",#6309-7Z
BEARING,4.7244"X2.1654"X1.1477" ,#6311-7Z
BEARING,4.7244"X 2.1654"X 1.1477" #311W
BEARING,3.937"X 1.7717"X 1.5625",#5309
BEARING,5.1181"X 2.3622"X 2.1250",#5312
BEARING,7.0866'"X3.3465"X1.6142",#6317-7Z
BEARING CONE,.8125"X.7813",#12580
BEARING CONE,1.25"X 1.0625",#23491
BEARING CONE,1.75"X 1.216",#3578
BEARING CUP,1.938"X 0.625",#12520
BEARING CUP,2.6875"X 0.875",#23420
BEARING CUP,3.4375"X 0.9375",#3525
BEARING,6.2992"X 2.9528"X 2.6875",#5315
BEARING,3.1496"X.9843"X.8868",#6405-27Z
BEARING,2.8346"X 1.1811"X.7480",#7306B
BEARING,5.1181"X2.3622"X2.1250",#5312-7Z
BEARING,5.9055"X2.7559"X 1.378",#314-MFF
BEARING,3.1496"X1.378"X 1.375",#5307-2Z
BEARING,4.3307"X1.9685"X 1.75",#W5310-Z
BEARING,4.9213"X2.7559"X .9449" #NUP214E
BEARING,BALL,FAG #NUP-309-TVP2
BEARING,5.5118"X2.5591"X2.3125" #5313-EZ
BEARING,5.5118"X2.5591"X 2.5984",#7313B
BEARING,4.3307"X1.9685"X 1.0630",#6310-Z
BEARING,5.1181"X2.3622"X 1.2205",#6312
BEARING,5.1181"X2.3622"X1.2205",#6312-2Z
BEARING,4.7244"X2.5591"X .9055",#MU1213T
BEARING,2.8346'"X1.3780"X .6693",#6207-Z
BEARING,8.2677"X5.5118"X 1.875",#32028X
BEARING,150MM X 70MM X 51MM,STR BORE

60f 6



